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Algebra 1 9.4
Complete the square to write perfect square trinomials
Solve equations by completing the square
trinomial
perfect square trinomial
quadratic term
linear term
constant term

matching activity



Complete the square. Write in factored form.
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Example 2
Solve x? — 6x + 12 = 19 by completing the square.
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What do | need to build a
perfect square?

What has to happen (to
both sides)?

Write in factored form
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2. Solve x? — 12x + 3 = 8 by completing the square.
-3 -3
Clear the construction zone.
X512y #36 =S 5 & What else do | need to
> build a perfect square?
(X = Ik > _‘\r What has to happen
=\J¢/ (to both sides)?

Write in factored form.
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X+ Yx % = D

Solve each equatlon by completing the square. Round to the nearest tenth

if necessa ( ) ( ) O +1U S
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20. x2—2x—14=0
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' What has to happen (to
w_ = 2 YIS both sides)?
Write in factored form
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2. x2-8x—-1=8
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2—-11x+3=5
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